

Name Asemuabira Ademibo Frank
Matric No. 19/MTT501/103
Course code MA1104
Course title General mathematics III

① $y = 2x^2$ at the point $(1, 2)$.

Soln

$$x_1 = 1$$

$$y_1 = 2$$

$$\frac{dy}{dx} = 4x$$

$$\therefore \frac{dy}{dx} \Big|_{x=1} = 4 \quad \therefore M = 4.$$

For eqn of tangent.

$$y - y_1 = m(x - x_1)$$

$$y - 2 = 4(x - 1)$$

$$y - 2 = 4x - 4$$

$$y - 4x - 2 + 4 = 0$$

$$y - 4x + 2 = 0 \text{ eqn of the tangent.}$$

Eqn of normal.

$$M_1 \cdot M_2 = -1$$

$$4M_2 = -1$$

$$M_2 = -\frac{1}{4}$$

$$\therefore y - y_2 = -\frac{1}{m} [x - x_1]$$

$$y - 2 = -\frac{1}{4} [x - 1]$$

$$4y - 8 = -x + 1$$

$$4y + x - 8 - 1 = 0$$

$$4y + x - 9 = 0 \text{ eqn of the normal.}$$

3

$$y = \frac{x^3}{2}$$

$$x_1 = -1$$

$$y_1 = -\frac{1}{2}$$

$$\frac{dy}{dx} = \frac{3x^2}{2}$$

$$\left. \frac{dy}{dx} \right|_{x=-1} = \frac{3(-1)^2}{2} = \frac{3}{2}, \therefore m = \frac{3}{2}$$

for tangent.

$$y - y_1 = m(x - x_1)$$

$$y - (-\frac{1}{2}) = \frac{3}{2}(x - (-1))$$

$$y + \frac{1}{2} = \frac{3}{2}(x + 1)$$

$$2y + 1 = 3x + 3$$

$$2y + 1 - 3 - 3x = 0$$

$$2y - 3x - 2 = 0 \text{ for tangent}$$

for normal.

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - (-\frac{1}{2}) = -\frac{2}{3}(x - (-1))$$

$$y + \frac{1}{2} = -\frac{2}{3}(x + 1)$$

$$3y + \frac{3}{2} = -2x - 2$$

$$3y - 3x + \frac{3}{2} + 2 = 0$$

$$6y + 4x + 7 = 0 \text{ for the normal.}$$

Q $y = \frac{1}{9x}$ at the point $(3, \frac{1}{3})$

$$y = \frac{1}{9x}$$
$$x_1 = 3$$

$$\frac{dy}{dx} = -\frac{1}{x^2}$$

$$\frac{dy}{dx} \Big|_{x=3} = -\frac{1}{3^2} = -\frac{1}{9} \therefore m = -\frac{1}{9}$$

for tangent.

$$y - y_1 = m(x - x_1)$$

$$y - \frac{1}{3} = -\frac{1}{9}(x - 3)$$

$$9y - 3 = -x + 3$$

$$9y + x - 3 - 3 = 0$$

$$9y + x - 6 = 0 \text{ for tangent.}$$

for normal.

$$y - y_1 = \frac{-1}{m}(x - x_1)$$

$$y - \frac{1}{3} = -\frac{-1}{-1/9}(x - 3)$$

$$y - \frac{1}{3} = 9(x - 3)$$

$$9y - \frac{1}{3} = 9x - 27$$

$$y - 9x - \frac{1}{3} + 27 = 0$$

$$y - 9x + \frac{80}{3} = 0 \text{ for normal.}$$

$$3y - 29x + 80 = 0 \text{ for normal.}$$

$1+x-x^2$ at the point $(-2, -5)$
Soln

$$m_1 = -2$$

$$y_1 = -5$$

$$\frac{dy}{dx} = 1 - 2x$$

$$\left. \frac{dy}{dx} \right|_{x=-2} = 1 - 2(-2) = 1 + 4 = 5 \therefore m = 5$$

eqn for tangent

$$y - y_1 = m(x - x_1)$$

$$y - (-5) = 5(x - (-2))$$

$$y + 5 = 5(x + 2)$$

$$y + 5 = 5x + 10$$

$$y - 5x + 5 - 10 = 0$$

$$y - 5x - 5 = 0 \text{ for tangent}$$

eqn for normal

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - (-5) = -\frac{1}{5}(x - (-2))$$

$$y + 5 = -\frac{1}{5}(x + 2)$$

$$5y + 25 = -x - 2$$

$$5y + x + 25 + 2 = 0$$

$$5y + x + 27 = 0 \text{ for normal}$$

② $y = 3x^2 - 2x$ at the point (2, 8)
Soln

$$x_1 = 2$$

$$y_1 = 8$$

$$\frac{dy}{dx} = 6x - 2$$

$$\left. \frac{dy}{dx} \right|_{x=2} = 10 \quad \therefore M = 10$$

For the eqn of tangent.

$$y - y_1 = m(x - x_1)$$

$$y - 8 = 10(x - 2)$$

$$y - 8 = 10x - 20$$

$$y - 10x - 8 + 20 = 0$$

$y - 10x + 12 = 0$ for the eqn of the tangent.

Eqn of the normal.

$$y - y_1 = -\frac{1}{m}(x - x_1)$$

$$y - 8 = -\frac{1}{10}(x - 2)$$

$$10y - 80 = -x + 2$$

$$10y + x - 80 - 2 = 0$$

$10y + x - 82 = 0$ for the eqn of the normal.